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210 190 80
0.9 210 190 80 190/190=1.00
210
70
10
210 80
190 80 |  110+0=110( )
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2.5 B 4.0
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208.3 m3
= 70.4
= 111.6
0.42 >(2.25m 14.53m 1.21m) = 7.6
1 1.22 >=7.41m = 9.0
1 1.42><2.00>=<0.23><8 = 5.2
2 1.42>2.00><0.53>=3 = 4.5
1m 4m 0.0 m3
1m 68.1 m3
= 254
= 30.7
0.05 ><(2.25m 14.53m 1.21m) = 0.9
1 0.95 ><7.41m = 7.0
1 {5.2 (0.52><1.00><0.15 0.42>=<1.00><0.08)>=<8 }>=<1/2 = 2.2
2 {4.5 (0.52><1.00><0.15 0.42>=<1.00%=<0.38)><3 }>=<1/2 = 1.9
2.5 5.0 m3
0.05 ><(2.25m 14.53m 1.21m) = 0.9
1 {5.2 (0.52><1.00><0.15 0.42>=<1.00><0.08)>=<8 }>=<1/2 = 2.2
2 {4.5 (0.52><1.00><0.15 0.42>=<1.00%=<0.38)><3 }>=<1/2 = 1.9




0.52><133.33m

0.725> 2.25m

0.725>14.53m

0.725> 1.21m

28.57 7.73

1 0.47>7.41m

0.57 =8

2 0.57 >3

LI
520><1000
1420><2000

69.3
1.6
10.5
0.9
36.3
3.5
4.6
1.7

|
520><1000
1420><2000

128.4 m2
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B300><H300 133.33 m
No. 0 9.33 No. 0 19.55 L= 10.30
No. 1 0.45 No. 3 14.64 L= 50.20
No. 3 16.46 No. 5 16.00 L= 34.80
No. 5 17.06 No. 6 3.46 L=5.46
No. 6 4.60 No. 8 0.44 L= 32.57
2.25 m
No. 0 8.09 No. O 8.45 L=0.40
No. 8 8.14 No. 8 9.04 L=1.85
14.53 m
No. 7 15.92 No. 7 16.16 L=7.17
No. 8 1.40 No. 8 7.43 L=7.36
1.21 m
No. 0 7.55 No. O 8.09 L=0.61
No. 8 7.84 No. 8 8.14 L=0.60




No. 0 6.84 No. O 19.65 L=12.89
No. 5 1.38 No. 5 16.27 L= 16.58
No. 5 16.73 No. 7 6.24 L= 31.03
60.50m
1000kg/ 2000kg/
=0.00
0.00m
1.0
1000kg/ 60.50 m
1000kg/ 2000kg/ 0.00 m
FNV1 W300>=<h400 L2000 2.0
L1000 13.0
L1500 5.0
L1528 1.0
L1582 1.0
W300>=<h500 L1000 2.0
L1500 12.0
W300><h700 L2000 1.0
L1000 1.0
W300>=<h800 L2000 2.0
L1832 1.0
L1762 1.0
L1146 2.0




FOsE1

FOSEG1

18N/mm2

RC-30,t=100

RC-40,t=150

B300 L2000
L1000
L1500
L1528
L1582
L1832
L1146

B300 L2000

B300 L1828
L934

h500
W300 0.60><(2.00m 14.582m 18.00m 13.028m

h600 h1000
W300 0.60><(9.886m 3.00m

= 28.566

=7.732

16.
17.

O O O ©O o o o

N P e

28.57 m2

7.73 m2




Co @300 7.41 m
No. 0 9.43 3-3 L=2.32
No. 6 4.02 3-2 L=2.00
No. 8 0.15 1-2 L=3.09
1
8.0
No. 1 0.45 No. 3 14.64 N=4.0
No. 3 16.46 No. 5 16.00 N=2.0
No. 6 4.60 No. 8 0.44 N=2.0
2
3.0
No. 0O 8.86 N=1.0
No. 6 4.03 N=1.0
No. 8 0.90 N=1.0




(¢ )}
C
(m) (m m 0
« -
0.110 0.158 2 > 0.300 > 9.886 m 0.397
0.058 0.072 2 > 0.300 > 3.000 m 0.059
0.146 0.153 2 > 0.300 > 2.000 m 0.090
0.053 0.100 2 X< 0.300 > 14.582 m 0.335
0.117 0.126 2 > 0.300 > 3.622 m 0.132
0.126 0.152 2 =< 0.300 > 14.378 m 0.600
0.052 0.064 2 > 0.300 > 6.754 m 0.118
0.064 0.100 2 =< 0.300 > 6.274 m 0.154
= mm 0.00730 m%/2.0 =< 60.496 m 0.221

2.200
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%i;‘z’w”’ 50 300 b
' HEBME b(l 420 h(l
RC-40 520
10.0m4 L)
E 5 = = =Ry H B
PR IR K
B300 X H300 10.0+2. 00 = 5. 000 g 5.0
e )L X)L
1: 3 0. 420<0. 030 10. 0 = 0.126 m3 0.126
LR
RC-40, t=150 0.52X10.0 = 5.200 m2 5. 20




BitEE H E H HE £ NO.
675
50 225 400
SEEERIOYYBE
(MmmR) H=250
avyy—Fk
< o 28=18N/mm’
()
S ( \ i
o i [e) / 8
— 8 =J / ;
048] 00 S
BEE)LAIL ERpRA
(1:3) 50 675 " RC-30
725
10.0mY)
E O =t g = B #H =
a7 U—F {1/2x (0. 060+0. 084) X 0. 400+0. 066 X 0. 675} X 10. 0
18N/mm2L4 | = 0.734 m3 0.734
Tl p
— R (0. 066+0. 15) X 10. 0 = 2.160 m2 2.16
FEEn
RC-30, t=100 0.725%10. 0 = 7.250 m2 7.925
SEEERN T T v T
BfE, iR 10. 00. 605 = 16.529 2E 16.5
5o )L X )L
1:3 0. 225%0. 010X 10. 0 = 0.023 m3 0. 023
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(1:3) 50 675 RC-30
725
10.0m4 Y
E S it g =M B #H =
a7 U—h {1/2% (0. 060+0. 084) X 0. 400-+0. 066 X 0. 675} X 10. 0
18N/mm2)). |- = (.734 m3 0.734
AU
— A (0. 066+0. 15) X 10.0 = 2.160 m2 2.16
A
RC-30, t=100 0.725X%10. 0 = 7.250 m2 7.25
SEHEER T O v T
Bfi, I FFH  |10.0+0.605 = 16.529 1 16.5
5 )L X )L
1:3 0. 225x0. 010X 10. 0 = 0.023 m3 0. 023
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725
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a7 J—F 11/2X (0. 060 +0. 084) X 0. 400+ 0. 066 X 0. 675} X 10. 0
18N/mm2L4 | = 0.734 m3 0. 734
Tl
— R (0. 066+0. 15) X 10. 0 = 2.160 m2 2.16
FEEEn
RC-30, t=100 0. 725X 10. 0 = 7.250 m2 7.25
HEEER Ty 7 | (FTOLHTH)
B, MR 10. 0-0. 605 = 16.529 1 16.5
e L F L
1:3 0. 225%0. 010X 10. 0 = 0.023 m3 0. 023
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avy)— kERFE (D300)
’(ﬂw 15E8%
HyLavosy—+k
o 28=18N/mm’
@ BEELEL
S \
[=] A
=2 #%;i §§¢S
272
E@ERA
410 RC—40
10.0mY)
2 M- H = = B %=
L7 U— FEMEE
D300 10. 02, Om = 5.000 ZS 5.0
[ E W
1:3 0.272%0. 020X 10. 0 = 0.054 m3 0. 054
L=z V—F
18N/mm2 2L F 0. 100X 0. 470 X 10. 0 = 0.470 m3 0. 470
A E e
%L 0.10X2X10. 0 = 2.000 m2 2.00
EpEA
RC-40, t=150 0.47x10.0 = 4.700 m2 4.70
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= 900,
HEEILRIL
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520
1.0 LY
B o OER A B g = B {1 o=
T LEy A it
B300 X H500 L=995 (JEVE & : h=200) JE 1.0
B )L A )L
1:3 0.420X0. 030X 0. 995 = 0.013 m3 0.013
FLpEn
RC-40, t=150 0.52X1.095 = 0.569 m2 0.57
TVv—F T
(1-25 5@ H) e 1.0




25 HEM

BiHEE o= H OB E NO.
SL—F 25 (1-25) B&H 420
150 240 30
FE—" o o
Lo I \
S, |
S 300
[ap]
1
gz |1 1| 3¢
NN A
3|
X |
| I |
= S
S /
3 L)
BEEILAIL
1:3)
HEMRA 90| 240 |90
RC-40 50 420 5
520
1.0FE %Y
B o OER A H g = B # 2
T LEy A it
B300 X H800 L=995 (JEVE & : h=500) J& 1.0
B )L A )L
1:3 0. 4200. 030 X 0. 995 = 0.013 m3 0.013
FLpEn
RC-40, t=150 0.52X1.095 = 0.569 m2 0.57
TL—F 7
(T-25 @ H) K 1.0




A+ =
BAE T ARG
OB AT
Juay 7o
X S
FRI R G X o &

1 S B A

(1.0:X%7=1]
eI

F/EHRLIEAS, 1=50 | ERAHEE L Y 1,182.92 m2
T s |

RC-30, t=100 n 0 1,145.33 m2

RE (BEZHEAs) t=5cm
IS4 La—F (1.2L/m232%)
T [E &A% (RC-30) t=10cm

2B B A

(1.0:X% 7= ]
eI

Bk MEAs, t=40 AR R ELY L G 254.98 m2

233. 401 +15. 261 +38. 19 +12. 4111 = 299,26
HETuyr PERR (Ehisk T FHEELY
(456H 4+ 3647) X 0.30X0. 30 = 44,28

T AR AT R

RC-30, t=100 229, 8611 +15. 261 +38. 19 +12. 4111 295. 72 m2
T4 VE—]E L A He s

fib. t=100 (226. 331+ 15. 261 +38. 197 +12. 4111) X 0. 10 29.22 m3

*&IE (FEKMAs) t=4om
T E & (RC-30) t=10cm
42— (F) t=10cm

A2=38. 19m2




T A T
=R/
X A

Tt

L IS Tics

i
B
N
p|

%

e

275 e Nk

(1.0%47-9)
e
FKMEAs, t=50
RETay s PER

NEL:E

RC-30, t=100

T4V E—]EF
. t=100

AR ELY 49. 06
[ hs% T.) FHEEL Y

82 X 0. 30X 0. 30

-7.38

n 47.57m X0. 10

1990) 900

=B (FEKMEAs) t=bcm
T B A& (RC-30) t=10cm
T4 LB —E () t=10cm

41.68 m2

48.32 m2

4.76 m3
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i B KEST

A=S /A
X Salh
ARl Bk = z\, =
FEHR
H. W=150 408. 01
SR Z2m ARBL LV 153. 86m+3. 39m = 157.25
| A I 146. 25m+7. 26m = 153.51
HUARBE AL I 32. 61m+34. 87m+29. 77m = 97.25
M. W=450 30. 37
A RYE XY 3.31m+6. 16m = 9.47
K e 2 I 41.79m +2 = 20.90
R
H. W=150 25. 00
HUARBE R No. 1+19. 49~No. 4+ 14. 49 1=55. 00m
5. 00m X 54% = 25.00
Y77
H. W=150 58. 66
R X v = 58.66
M. W=450 10. 88
I 15. 77Tmi+1. 45 = 10.88
RKEN - 3CF- - G
. 15cmifa 81.52
Bl A Y == 16.52mx 3T = 49.56
VoWt ~= 6.66mX2f&7T = 13.32
EEn IEER (5. 65mt6. 73m+6. 26m) X 145 7T = 18.64
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I No. 4+ 9.80~No. 4-+11.67 L=1.80
I No. 5+ 2.95~No. 5+ 4.97 L=1.80
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0.9 300 280 250 1.00
130 130

0.9 130 130 120
110 110

0.9 110 120 110 110>=<1.00
290 290
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480 430 310
0.9 480 430 310 430/430=1.00
480
280
30
0
480 310
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430 310 430-310=120
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482.8 m3
= 404.1
0.42 >(12.61m 18.13m 0.60m) = 13.2
1.07 ><17.68m = 18.9
(No.11 ) 1.82 >=0.70m = 1.3
(No.13 ) 2.72 >=1.89m = 5.1
(EP ) 1.70 ><8.05m = 13.7
1 1.42>=2.00><0.23>=15 = 0.8
2 1.42><2.00>=<0.53><5 = 7.5
6,7 1.70>1.90><0.40><2 = 2.6
8 1.60><2.00><0.71><1 = 2.3
3-4 1.70>=<1.70><0.52>1 = 1.5
4-1 2.08>=<2.08>=<0.64><1 = 2.8
m  4m 123.7 m3
= 123.7
m 155.1 m3
= 127.1
0.05 >(12.61m 18.13m 0.60m) = 1.6
0.80 ><17.68m = 14.1
1 {9.8 (0.52><1.00><0.15 0.42>=<1.00=<0.08)><15 }=<1/2 = 4.1
2 {7.5 (0.52><1.00><0.15 0.42%=<1.00>=<0.38)><5 }>=<1/2 = 3.2
6,7 {2.6 (0.80>=<1.00><0.15 0.70><0.90>=<0.25)><2 }>=1/2 = 1.0
{2.3 (0.70%<1.10><0.15 0.60>=<1.00=<0.56)><1 }>=<1/2 = 0.9
1 0.22 >0.50m = -0.1
3-4 1.5 (0.80><0.80>=<0.20 0.70>=0.70><0.32)>=1 = 1.2
4-1 2.8 (1.18%=<1.18><0.20 1.08><1.08><0.44)>=<1 = 2.0
2.5 22.9 m3
0.05 >(12.61m 18.13m 0.60m) = 1.6
(No.11 ) 0.89 >=0.70m = 0.6
(EP ) 1.44 >8.05m = 11.6
1 {9.8 (0.52><1.00><0.15 0.42>=1.00=<0.08)><15 }=<1/2 = 4.1
2 {7.5 (0.52><1.00><0.15 0.42%=<1.00>=<0.38)><5 }>=<1/2 = 3.2
6,7 {2.6 (0.80>=<1.00><0.15 0.70><0.90>=<0.25)>=<2 }>=1/2 = 1.0
8 {2.3 (0.70%<1.10><0.15 0.60>=<1.00=<0.56)><1 }>=<1/2 = 0.9
1 0.22 >0.50m = -0.1




2.5 B 4.0 3.9 m3
1 (No.13 ) 2.05 >=1.89m = 3.9
B 2.5 1.3 m3
1 (No.11 ) 0.67 >=0.7m = 0.5
(No.13 ) 0.41 >=1.89m = 0.8
245.8 m2
1 0.52><206.07m = 107.2
1 0.725><12.61m = 9.1
2 0.725><18.13m = 13.1
0.725> 0.60m = 0.4
19.76 63.70 = 83.5
1 0.47>28.32m = 13.3
1 0.57 x=15 = 8.6
2 0.57 x5 = 2.9
6,7 0.80 =2 = 1.6
8 0.77 x=1 = 0.8
1 0.36 >=<(1 1 1) = 1.1
2 0.49 =3 = 1.5
3 0.64 =<1 1) = 1.3
4 1.39 x<1 = 1.4
1
No.11 L=0.70m

1000

1000

0.41




1.44 1.70
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1420>=<2000 1700>1900
1420><2000
3-4 4-1
8 No.13
— |
600>=<1000
- 700><700
N B 1080><1080
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B300><H300 206.07 m
No. 0 4.20 No. 2 14.33 L= 46.14
No. 3 19.89 No. 7 1.73 L= 56.83
No. 7 2.73 No. 8 18.75 L= 34.07
No. 9 1.39 No. 9 5.38 L=4.00
No. 9 6.28 No.12 2.50 L= 52.30
No.12 3.50 No.12 16.22 L=12.73
12.61 m
No. 2 14.33 No. 2 16.85 L=2.53
No. 3 18.77 No. 3 19.89 L=1.12
No.12 17.22 No.13 3.16 L=6.26
No.13 5.73 No.13 5.74 L=2.70
18.13 m
No. 2 17.83 No. 3 3.17 L=6.65
No. 3 12.12 No. 3 17.78 L=7.02
No.13 3.94 No.13 5.64 L= 4.46
0.60 m
No.13 5.64 No.13 5.73 L=0.60
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FOSEG1

18N/mm2

18N/mm2

W300

B300 L2000

B300 L1000
L1120
L 429

0.600><0.100><(8.000m 21.429m+11.120m) = 2.433

0.10>=<2 ><(8.000m 21.429m+11.120m)

6.0

39.0
1.0
1.0

5.10 m3

2.43 m3

8.11 m2




RC-30,t=100 h500 19.76 m2
W300 0.60><(7.504m 21.429m 4.00m =19.760
RC-40,t=150 h600 h1000 63.70 m2
W300 0.60><(10.00m 4.00m 8.00m 3.00m 21.229m = 63.703
6.247m 21.852m 12.705m 11.12m 2.00m
2.283m 3.735m
Co @300 28.32 m
No. 2 17.34 2 1-3 L=2.00
No. 3 18.71 2 3-4 L=1.81
No. 7 2.23 2 3-4 L=1.50
No. 8 19.20 6 1-2 L=1.55
No. 9 5.83 7 1-2 L=1.55
No.11 0.50 4-1 L=1.83
No.12 3.00 2 1-2 L=1.70
No.12 16.72 2 3-1 L=1.50
No.13 0.00 3-4 L=4.27
No.13 3.95 2-1 8 L= 8.05
8 2-1 L= 2.56
15.0
No. 0 4.20 No. 2 14.33 N=4.0
No. 3 19.89 No. 7 1.73 N=5.0
No. 7 2.73 No. 8 18.75 N=2.0
No. 9 6.28 No.12 2.50 N=4.0




5.0
No. 2 17.36 N=1.0
No. 3 18.27 N=1.0
No. 7 2.23 N=1.0
No.12 3.00 N=1.0
No.12 16.72 N=1.0
6
400><600><800 1.0
No. 8 19.20 N=1.0
7
400><600><800 1.0
No. 9 5.83 N=1.0
8
300><700><950 1.0
No.13  3.62 N=1.0
1-1
NK 300><300><H600) 1.0
No. 0 3.97 N=1.0




1-2

NK 300><300><H800) 1.0
No.12  3.00 N=1.0
1-3
NK 300><300><H1000) 1.0
No. 2 16.72 N=1.0
2-1
NK 400><400><H1000) 3.0
No. 1 14.98 N=1.0
No.13  3.95 N=1.0
N=1.0
3-1
NK 500><500><H800) 1.0
No.12 16.72 N=1.0
3-4
NK 500><500><H1400) 1.0
No.12 19.45 N=1.0
4-1
NK 800><800><H1500) 1.0
No.11 0.78 N=1.0




FNV2

FNV2
FNV2
FNV2

FNV2

A vnN—rary ) — b (HRER

B R A EAIE it - = o Coli B
4 X & (m) g (m) ER (m)
AT HR (D) > &P ERR (Z4A)

0.152 4+ 0.069 ) . 2 x 0. 300 x 7. 504 = m 0. 249

0.169 4+ 0.059 ) 2 x 0. 300 x  10.000 = m 0. 342

0.159 4+ 0.126 ) .~ 2 x 0. 300 x 4.000 = m® 0.171

0.126 4+ 0.063 ) . 2 x 0. 300 x 8. 000 = m® 0. 227

0.163 4+ 0.139 ) ~ 2 x 0. 300 x 3.000 = m 0.136

0.139 4+ 0113 ) 2 x 0. 300 x 4.716 = m 0.178

0.113 4+ 0.050 ) . 2 x 0. 300 x 13132 = m® 0. 321

0.050 4+ 0.074 ) .~ 2 x 0. 300 x 2. 000 = m® 0. 037

0.074 4+ 0.093 ) 2 x 0. 300 x 1.381 = m 0.035

0.093 4+ 0.105 ) 2 x 0. 300 x 3.142 = m 0.093

0.105 4+ 0.110 ) .~ 2 x 0. 300 x 3.105 = m® 0.100

AT #R (B4R - &P R (Z4AD)

0.154 4+ 0.092 ) 2 x 0. 300 x  13.958 = m 0.515

0.092 + 0.054 ) , 2 x 0. 300 x 7.894 = m 0.173

0.154 4+ 0.118 ) .~ 2 x 0. 300 x 7.571 = m® 0. 309

0.118 4+ 0115 ) .~ 2 x 0. 300 x 1.407 = m® 0.049

0.115 4+ 0.116 ) 2 x 0. 300 x 3.721 = m 0.129

0.099 4+ 0.100 ) 2 x 0. 300 x  18.679 = m 0. 558

0.100 4+ 0.092 ) .~ 2 x 0. 300 x 2.750 = m® 0.079

0.170 4+ 0.115 ) ~ 2 x 0. 300 x  11.120 = m® 0.475

0.115 4+ 0.133 ) 2 x 0. 300 x 2. 000 = m 0.074

0.133 4+ 0.100 ) ~ 2 x 0. 300 x 2.283 = m 0.080

0.112 4+ 0082 ) .~ 2 x 0. 300 X 3.735 = m® 0.109

NK#t I B¢

33 h 600 | ( 0050 4+ 0050 ) . 2 x 0. 300 x 0. 300 = m 0. 005
3%3 h 800 | ( 0050 + 0050 ) 2 x 0. 300 x 0. 300 = m® 0. 005
3%3 h 1000 ( 0.050 4+ 0050 ) . 2 x 0. 300 x 0. 300 = m® 0. 005
4«4 h 1000 | ( 0.050 4+ 0050 ) . 2 x 0. 400 x 0. 400 = m 0.024
545 h 800 | ( 0.050 4+ 0050 ) . 2 x 0. 500 x 0. 500 = m 0.013
5«5 h 1400 | ( 0.050 + 0.050 ) . 2 x 0. 500 X 0. 500 = m® 0.013
8«8 h 1500 | ( 0.050 4+ 0.050 ) .~ 2 x 0. 800 x 0. 800 = m® 0.032
t2 = mm EE 7 A RE 0.00730 /2. 0m 94.555 = m 0. 345

h t2 = mm A TE 0.00910 /2. Om x  40.549 = g 0.184

Py £ 3

(=)

5.100
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b0 225 400
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10.0m= b
B o RR A Hi =1 = B {1 o=
a7 )—h {1/2% (0. 060+0.084) X 0.400+0. 066 X 0. 675} X 10. 0
18N/mm2 VL | = 0.734 m3 0. 734
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{0.950 % 0.150+0.880 x 0.150} x 0.900+
1/2 % (0.948+0.940) X 0.400 X 0.150 X 2+0.600 X 0.400 X 0.150 = 0.396
0.060 X 0.081 x 0.400 x 2+0.023 X 0.081 x 0.720
b2 +1/2 % 0.050 X 0.050 X 0.900 =  -0.006
$202(0.300 x 0.300 X 1EFf X 0.150+ 7 /4 X 0.300°2 X 0.150 X 1{&Ff = -0.024
B
— R m2 4.86
(0.90+0.07140.88) X 0.90+ 1/2 X (0.948+0.940) X 0.40 X 2
5 E| +(0.950+0.880) x 0.15 X 2 = 2.970
(0.948+0.940) X 0.60+1/2 X (0.948 +0.940) X 0.40 X 2
NE +0.30x4x0.15x 1T +0.30x 7 X015 X 1HfF = 2.209
% [5[0.30 X 0.30 x 18P X 2+ 71 /4 X 0.300°2 X 1R X 2@ = -0.321
HEEH
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(T-25 400 % 600F8 EL&EH) " 1.0
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